EARAROBEEIERT — 2 N— IBISH —F

201556870 (B) 3mpR#2H

B +>%3mtE 500ATF (GRE) [EBTE] T2 ‘ (Xfg] B ‘ [REmsh  — |4 (&) 1800M T2
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e s s EE L :52. -14-16- . . AAREEE (ER)
2F TR B4 = 1(5_2)6 14-14-16-12| 36.2 | 94.3 | 1 (5_242) EKE%:i“/)Iﬁ
R:xF1=g7—X B:T4 v ILTLX (B) HBEa-KL—-ra>aEI7

3 | Ak 1:52.7 1-1-1-1 1| 93.7 4 FEEMES (RR)
FIVF s 54.0 (3/4) %119 s (+?g) (H’:)Ia/—xt)l&(
Lix L ThHANAN B:oagFroToh E3ubrer)

. SREFIRE . _13-14- SEE—
<IAOty & 44 gx}(?)%ﬁ 1(.35/%4.)8 11-13-14-14| 36.6 | 92.5 | 4 (5&6) Eﬁiﬁ (EH)
L:d—IWR7Y2—b B/ by TLTa HE77—L4
. © e AifEA . "y
YauFrlhivFy o4 ?;.01&7: (11513/40) 6-5-6-5 |37.8| 90.9 | 11 ;1:324) ig% (ER)
XL ThANAN BTFND2 R Fv—L4 TR

. . X . o o ZEBET
TrUI4yva o4 ;if;l_ﬂ’flﬁﬁ 1(,?3*? 8-8-8-8 |37.5|90.9 | 7 | 48 %E;_g (E®)
R:v>NyBaHhT1 BT RS #2) H¥RAEHE /XX

. . . —5-4— =3
A9 G- K [B] o4 UAﬂg%?ﬁit 1(.;5/%2 5-5-4-4 |38.2| 89.2 | 2 :f) 45#2}? (ER)
LTANRT 1 BTAILYF NS
R N MEATE : -8-8— MTRL (EXR)

Sw k=LK i 5 b (12513/26) 9-8-8-6 |38.1| 85.6 | 8 &2} Famz%%
LI THTI4 R B v =X E&HL BRI
— MEZE= . —16-12- IR = (F®)
®hr5% 1% [B] o4 ulll 1(/&\33? 16-16-12-9 | 37.5 | 85.4 | 5 zzi)z s ER
RAFAT—I K B:XE—T1X4Z FHI)Tr—L
oS > 5 | AREL 1:53.7 6-52-2 |38.9| 85.2 | 12 | 510 |&AE (F®)
9816 JE—Z514 22— [B] - 57.0 (3/4) (-4) J)—2Z 54—k
LHYRT TR B AT TTFF— KA
o i HE . Ty = (=i
100 11 1 SHIVIyFay [B] @ %50 (17;5935) 11117291 37.8 | 846 10 tg? ;EE{%E R
L:IANRZXTNT B:TOdrrX BORMOS
e e % . oy
lilo|v=1FL ook 3 A&E%%ﬁﬁ 1.(5:).4 3-3-5-6 [39.2] 79.4 | 6 (5_180) ggié (FEH)
LiAREXRY BAATIE5S HEERS
o 3 | dtRR— 1:54.5 11-11-14-16| 38.2 | 77.6 | 9 478 | REBR (EH)
12/ 8|15| ¥V //N=F 2 & 54.0 (/) 8 EAET
R:xY/ by THY BixvY/ T Eld=te)
= T > 5 | RRIGLF 1:54.9 14-14-10-12| 38.9 | 74.8 | 15 | 488 |HPEEF (E®)
18/ 7{13| 7V AAN—5 70 s 2 1/2) o | ) HAL-zE-2
R:Er/nJOoq4 B:IYAMFILAHCR HBE77— L4
- F J:iciomd :55. -2 : : BEEL (RR)
7 6 FIECEYESarad "4 S 1(525)2 S Rl e ff) HEADE
L:x L THANAN BILRS KIS
= s b=} . 10— 1N— RE
skl 6| @t UT>T v [B] Ho4 fafg)ﬁ (11515/:) 9-10-10-14 [ 39.5 | 71.2 | 16 <4+626) EE(%?) f/}(%%)
L:TANVRTy a2 B T7rIv X &Il —5
Som B RA : -3-6- pirey
1607114| 2>V bo—2 [B] 44 5%%,%# 1.(525).7 3-3-6-11 | 40.1| 69.5 | 13 (4_860) uﬁ;i? €3
R:7RYIYL—> BE7 X THES
@ 71 L
) 50.2-38.0
NA> 24 L | 12.6-11.4-13.4-12.7-12.3-12.2-12.5-12.5-13.0
® I —F—@EBIERL
13—3— 10,11(2,14)5(9,16)4(6,12) (1,8,15) (3,13)7
2= = 10,11(2,14) (5,9,16) (4,12)6(1,15)8(3,13)7
Gol=5r= 10(11,16)5,2(9,14) (4,12) (6,13) (1,7) (8,15)3
40—+ — 10(11,16)5,9(2,12)4(1,7)14(13,3) (8,6) 15
[ N3
BB 3 1504 714K 3-10 310 e E 2-5 460M JEHE 3-8-10 2,790
8 B 3 110 3-8 540M B = 3-10 630M B 3-10-8 6,430
10 1704 8-10 2,090/ B H 3-10 780M
8 260M

ABICOVWTRDTEEERROODE. TR LIV,




